MainRoutine - Ladder Diagram

Alllnstructions:MainTask:MainProgram

Total number of rungs in routine: 30

Page 1

10/2/2019 5:22:29 PM
F:\AllInstructions. ACD

Input_1 Input_2 Input_3 Input_4 Output_1
<M1[0].0> <M1[0].1> <M1[0].2> <M1[0].3> <M0[0].0>
0 1k IF 1k IF
Input_5 Input_6 Input_7 Input_8 Output_2
<M1[0].4> <M1[0].5> <M1[0].6> <M1[0].7> <M0[0].1>
1 = = e = ==
Input_9 Input_10 Input_11 Input_12
<M1[0].8> <M1[0].9> <M1[0].10> <M1[0].11> OSR
2 e— /== One Shot Rising
Input_13  Input_14  Input 15  Input_16 (S)tuotraugteB?(lt B'ot": ';r?};[og §gg>>:
<M1[0].12> <M1[0].13> <M1[0].14> <M1[0].15> P <Mp00—2>
/ / [0].
-ADD ——SUB ——————MUL DIV-
3 Add Subtract Multiply Divide
Source A M4[1] Source A M4[2] Source A M4[3] Source A M4[5]
0 0 0 0
Source B 10 Source B 10 Source B M4[4] Source B M4[6]
0 0
Dest M4[2] Dest M4[3] Dest M4(5] Dest M4[7]
0 0 0 0
Input_1
<M1[0].0> AND ———MOV-
4 J F Bitwise AND Move
Source A M4[100] Source M4[101]
0 0
Source B M4[101] Dest M4[104]
0 0
Dest M4[101]
0
Input_2
<M1[0].1> OR
5 q F Bitwise Inclusive OR
Source A M4[102]
0
Source B M4[103]
0
Dest M4[103]
0
—XOR
6 Bitwise Exclusive OR
Source A M4[6]
0
Source B M4[7]
0
Dest M4[7]
0
Input_3
<M1[0].2> ——NOT
J F Bitwise NOT
Source M4[5]
0
Dest M4([5]
0
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10
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12
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14

15

Enable_timer
<M1[12].8>
1C

Multiply

Dest

Source A M4[203]
0

Source B 100

MUL-

T40204.PRE
0

——TON

1 L

T40201.DN
O E

Timer
Preset
Accum

Timer On Delay HCEND)——

T40201

1000 —CDND—
0

Timer_done
<M0[12].8>

JC

Timer_Enable
<M1[12].9>
1

TIMER
CONTROL
BitArray[1]

TIMER TIMER
CONTROL  ENABLE/RESET
BitArray[1] BitArray[2]

1 J1E

1 L

Timer_Reset ENABLE/RESET

<M1[12].10>

TIMER

BitArray[2]

| =

RTO

1 L JC

Timer
Preset
Accum

Retentive Timer On HCEND)——

T40204
0 —(DN)—
0

T40204.DN MO[12].9
O E

a1

/

T40204.DN  MO[12].10
<

——TON

T40205.DN
O E

Timer
Preset
Accum

Timer On Delay HCEND)——

T40205

60000 —DND—
0

——TON

JC

Timer
Preset
Accum

Timer On Delay HCEND)——

T40206

60000 —DND—
0

Divide

Source A

Source B

Dest

DIV

T40205.ACC
0
1000

M4[205]
0
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TIMER
ENABLE/RESET
BitArray[2] T40204
16 / RES )——
DIV-
17 Divide
Source A T40204.ACC
0
Source B 100
Dest M4[204]
0
DIV-
18 Divide
Source A T40201.ACC
0
Source B 10
Dest M4[201]
0
DIV-
19 Divide
Source A T40206.ACC
0
Source B 1000
Dest M4[206]
0
COUNTER
CONTROL
M1[18].12  M1[18].13 BitArray[3]
20 1 E 1 E
COUNTER
ENABLE/RESET
MA[18].14  M1[18].15 BitArray[4]
/ / _
COUNTER COUNTER
CONTROL ENABLE/RESET
BitArray[3] BitAray[4] CTU
21 J F J F Count Up HCCcuUD)—
Counter C40301
Preset 100 —(DND—
Accum 0
C40301.DN MO[18].12
22 1 F
COUNTER
CONTROL
MA1[19].0 BitArray(5]
I
MA1[19].1
IC
1C
COUNTER
ENABLE/RESET
M1[19].2 BitArray[6]
1C
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COUNTER COUNTER
CONTROL  ENABLE/RESET
BitArray[5] BitArray[6] CTD
24 J F J F Count Down —_CD)—
Counter C40302
Preset 100 —(DND>—
Accum 0
EQU MO[18].13
25 Equal
Source A C40302.ACC
0
Source B 0
COUNTER
ENABLE/RESET
BitArray[4] C40301
26 = /[ RES )——
———MOV-
27 Move
Source C40301.ACC
0
Dest M4[301]
0
COUNTER
ENABLE/RESET
BitArray[6] C40302
28 = / [ RES)—
MOV-
29 Move
Source C40302.ACC
0
Dest M4[302]
0
(End)
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